#### **Form 604**

Corporations Act 2001 Section 671B

## Notice of change of interests of substantial holder

To Company Name/Scheme PAPERLINX LIMITED (PPX)

ACN/ARSN 005 146 350

#### 1. Details of substantial holder

Name Suncorp-Metway Limited and its subsidiaries

ACN/ARSN (if applicable) 010 831 722

There was a change in the interests

of the substantial holder on 6/3/09

The previous notice was given to the company on 6/3/09

The previous notice was dated 4/3/09

#### 2. Previous and present voting power

The total number of votes attached to all the voting shares in the company or voting interests in the scheme that the substantial holder or an associate had a relevant interest in when last required, and when now required, to give a substantial holding notice to the company or scheme, are as follows:

Class of securities	Previous notice		Present notice	
Ordinary shares	Person's votes	Voting power	Person's votes	Voting power
	31,087,838	5.1506%	38,432,535	6.3674%

### 3. Changes in relevant interests

Particulars of each change in, or change in the nature of, a relevant interest of the substantial holder or an associate in voting securities of the company or scheme, since the substantial holder was last required to give a substantial holding notice to the company or scheme are as follows:

Date of change	Person whose relevant interest changed	Nature of change	Consideration given in relation to change	Class & number of securities affected	Person's votes affected
Since previous notice		Tyndall I	nvestment Manageme Refer Annexure 2	nt Ltd	

#### 4. Present relevant interest

Particulars of each relevant interest of the substantial holder in voting securities after the change are as follows:

Holder of relevant interest	Registered holder of securities	Persons entitled to be registered as holder	Nature of relevant interest	Class & number of securities	Person's votes
Refer			Annexure 1		

#### 5. Changes in association

The persons who have become associates of, ceased to be associates of, or have changed the nature of their association with, the substantial holder in relation to voting interests in the company or scheme are as follows:

Name and ACN/ARSN (if applicable)	Nature of association
Not Applicable	

#### 6. Addresses

The addresses of persons named in this form are as follows:

Name	Address	
Refer to Annexure 1		

# **Signature**

Print name	C. Chuter	Capacity	Company Secretary
Sign here		Date	10/3/09



### **Annexure 1**

Relevant interest holder	Registered holder of securities	Registration details	Person's Votes
Suncorp Metway Investment Management Ltd	SUNCORP CUSTODIAN SERVICES PTY LTD (AET)	SUNCORP CUSTODIAN SERVICES GPO BOX 5078, SYDNEY NSW 2001	174,194
Suncorp Metway Investment Management Ltd	SUNCORP CUSTODIAN SERVICES PTY LTD (IPT)	SUNCORP CUSTODIAN SERVICES GPO BOX 5078, SYDNEY NSW 2001	66,390
Suncorp Metway Investment Management Ltd	SUNCORP CUSTODIAN SERVICES PTY LTD	SUNCORP CUSTODIAN SERVICES GPO BOX 5078, SYDNEY NSW 2001	4,794
New Zealand Guardian Trust Company Ltd	FERGUSON SIMON SETT TRUST	ANZ NOMINEES, MELBOURNE	667
New Zealand Guardian Trust Company Ltd	FERGUSON SIMON TRUST	ANZ NOMINEES, MELBOURNE	403
New Zealand Guardian Trust Company Ltd	GARRICK DAVID ESTATE	ANZ NOMINEES, MELBOURNE	8,464
New Zealand Guardian Trust Company Ltd	MAXWELL MAVIS J TRUST	ANZ NOMINEES, MELBOURNE	1,463
Tyndall Investment Management Ltd	NSW BUSINESS CHAMBER LTD	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C 9580-16 BTTYUT 5 <sup>TH</sup> FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	382.998
Tyndall Investment Management Ltd	NATIONAL NOMINEES LTD ACF BTR	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C 9580-16 BTTYUT 5 <sup>TH</sup> FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	52,483
Tyndall Investment Management Ltd	TYNDALL AUSTRALIAN CORE SHARE VALUE FUND	TASMAN ASSET MANAGEMENT LIMITED A/C TYNDALL AUSTRALIAN CORE SHARE VALUE FUND	405,402

		GPO BOX 5078 SYDNEY NSW 2001	
Tyndall Investment Management Ltd	TYNDALL AUSTRALIAN SHARE WHOLESALE PORTFOLIO	TASMAN ASSET MANAGEMENT LIMITED A/C TYNDALL AUSTRALIAN SHARE WHOLESALE PORTFOLIO GPO BOX 5078 SYDNEY NSW 2001	9,803,694
RAC INSURANCE	RAC INSURANCE	RAC INSURANCE PTY LTD GPO BOX 5078 SYDNEY NSW 2001	45,340
Tyndall Investment Management Ltd	WORKERS COMPENSATION NOMINAL INSURER	WORKERS COMPENSATION NOMINAL INSURER C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	1,219,415
Tyndall Investment Management Ltd	NATIONAL NOMINEES LTD ACF MERCER INVESTMENT NOMINEES LTD	NATIONAL AUSTRALIA CUSTODIAN SERVICES A/C MERCER INVESTMENT NOMINEES LTD A/C 11120-12 WMTYAE 5 <sup>TH</sup> FLOOR SOUTH 271 COLLINS STREET MELBOURNE VIC 3000	12,946,364
Tyndall Investment Management Ltd	OPTIMIX LTD	OPTIMIX LTD C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	2,925,279
Tyndall Investment Management Ltd	AMP CAPITAL INVESTORS	AMP CAPITAL INVESTORS LTD C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	8,667,297
Asteron Portfolio Services Ltd	ASTERON PORTFOLIO SERVICES LTD	ASTERON PORTFOLIO SERVICES GPO BOX 5078 SYDNEY NSW 2001	3,977

Tyndall Investment Management Ltd	PUBLIC TRUSTEE AUSTRALIAN CAPITAL TERRITORY	TASMAN ASSET MANAGEMENT LIMITED A/C PUBLIC TRUSTEE AUSTRALIAN CAPITAL TERRITORY PORTFOLIO GPO BOX 5078 SYDNEY NSW 2001	166,910
Tyndall Investment Management Ltd	CATHOLIC SUPER FUND	CATHOLIC SUPER FUND C/O BNP PARIBAS PO BOX R209 ROYAL EXCHANGE NSW 1225	1,557,001

**TOTAL UNITS 38,432,535** 

# Annexure 2 (TIML)

AMP CAPITAL INVESTORS
-----------------------

AMPC	05/03/2009	Purchases	363,803.95	0.6077	597,127	
AMPC	06/03/2009	Purchases	424,609.90	0.5909	716,745	
TYNDALL	AUSTRALIAN	SHARE WHO	LESALE PORTFO	LIO		
TASWP	05/03/2009	Purchases	649,558.99	0.6077	1,066,149	
TASWP	06/03/2009	Purchases	774,708.90	0.5909	1,307,715	
CATHOLIC SUPER RETIREMENT FUND						
CSRF	05/03/2009	Purchases	101,635.68	0.6077	166,819	
CSRF	06/03/2009	Purchases	122,857.23	0.5909	207,384	
ОРТІМІХ						
OPTI	05/03/2009	Purchases	191,270.21	0.6077	313,940	
OPTI	06/03/2009	Purchases	231,197.93	0.5909	390,264	
INVESYS S	SUPER RETIRE	MENT				
BTR	06/03/2009	Purchases	5,408.75	0.5909	9,130	
	06/03/2009	Purchases	5,408.75	0.5909	9,130	
			5,408.75 580,073.20	0.5909	9,130 952,099	
MERCER I	INVESTMENT	Purchases			·	
MERCER I MERI MERI	<b>O5/03/2009</b>	Purchases Purchases	580,073.20	0.6077	952,099	
MERCER I MERI MERI	05/03/2009 06/03/2009	Purchases Purchases ER LTD	580,073.20	0.6077	952,099 1,130,955	
MERCER I MERI MERI NSW BUS	05/03/2009 06/03/2009 INESS CHAMB	Purchases Purchases ER LTD Purchases	580,073.20 669,993.78 25,004.53	0.6077 0.5909	952,099 1,130,955 41,041	
MERCER I MERI MERI NSW BUS ABL ABL	05/03/2009 06/03/2009 INESS CHAMB 05/03/2009	Purchases Purchases ER LTD Purchases Purchases	580,073.20 669,993.78 25,004.53	0.6077 0.5909 0.6077	952,099 1,130,955 41,041	
MERCER I MERI MERI NSW BUS ABL ABL	05/03/2009 06/03/2009 INESS CHAMB 05/03/2009 06/03/2009	Purchases Purchases ER LTD Purchases Purchases	580,073.20 669,993.78 25,004.53	0.6077 0.5909 0.6077	952,099 1,130,955 41,041	

#### **RAC INSURANCE**

RACI 05/03/2009 Purchases 3,382.38 0.6077 5,552

#### **TYNDALL AUSTRALIAN CORE SHARE VALUE FUND**

TACSVF 05/03/2009 Purchases 31,459.61 0.6077 51,636

#### **WORKERS COMPENSATION NOMINAL INSURER**

WCNI 05/03/2009 Purchases 80,374.43 0.6077 131,922

WCNI 06/03/2009 Purchases 97,115.64 0.5909 163,932